Data Driven Methods in Finance: Leverage, Market Neutral, and Bayesian α

Fall 2023: IEOR 4576

Naftali Cohen

Nov 20, 2023



Introduction

- The data-derived factor model suggests that higher returns are typically achieved through increased factor exposure or enhanced factor premiums.
- In this section, we shift our focus to the α term and explore its implications in three key areas:
 - Leverage: Amplifying portfolio returns.
 - Market-Neutral Strategy: Mitigating risks associated with market trends.
 - Bayesian α: Uncovering new sources of return.

Leverage: Leverage in Portfolio Management

- **Definition of Portfolio Returns**: Portfolio returns can be broken down into parts one influenced by the benchmark (β times benchmark return) and the other independent of it ($\alpha_{\rm B}$ plus a random element).
- **Role of Leverage**: Leverage, essentially borrowing to amplify investment capacity, can significantly enhance portfolio returns.
- **Power of Portfolio Managers**: Managers can influence returns through strategic decisions, boosting either β (benchmark relationship) or $\alpha_{_{\rm B}}$ (alpha) of the portfolio.
- **Risks Associated with Leverage**: Leveraging increases portfolio exposure to market fluctuations and risks such as margin calls, potentially leading to amplified losses.



Leverage: Practical Application of Leverage

- Using Equity Index Futures: Equity index futures (like S&P 500 or NASDAQ 100 futures) are common tools for leveraging, offering liquidity and trading volume benefits.
- **Measurement of Leverage**: Traditional leverage is measured as the ratio of total investment to equity capital, with alternative approaches considering net dollar exposure.
- Limits on Leverage: The extent of leverage is dictated by goals and margin requirements, impacting the portfolio's exposure and risk profile.
- **Practical Mechanics of Leverage**: Implementing leverage involves calculating the number of futures contracts needed for the desired exposure, factoring in margin requirements and portfolio objectives.



Leverage: Advanced Leverage Strategies and Implications

- **Diverse Approaches for Different Managers**: Leveraging strategies vary index managers might focus on equity indices, while stock pickers may leverage individual stock selections.
- **Rebalancing and Risk Management**: Effective leverage management requires regular portfolio rebalancing, and an understanding of the risk-return dynamics.
- Leveraging in Various Market Positions: Strategies differ for leveraging in long-only versus short market positions, each with unique risks and considerations.
- Liquidity Buffering and Downside Protection: Utilizing options for liquidity buffering can protect the portfolio from excessive losses, especially in highly leveraged scenarios.



Leverage: Key takeaways

- **Balancing Risk and Reward**: While leverage can boost portfolio returns, it simultaneously increases the risk of significant losses.
- **Importance of Strategic Management**: Careful planning, regular monitoring, and strategic rebalancing are crucial in managing a leveraged portfolio.
- **Regulatory Considerations**: Compliance with regulations (e.g., SEC guidelines) is vital, especially for mutual funds and ETFs using leverage.

Leverage is a powerful tool in portfolio management, offering the potential for high returns but necessitating cautious and informed use to mitigate inherent risks.



Market Neutral

The Jones Nobody Keeps Up With



Alfred Winslow Jones

Jones's Big Jumps





Statistics of a Market-Neutral Portfolio versus Other Major Indices

Index	Average Return (%)	SD (%)	Correlation with Market Neutral	
Market neutral	4.49	9.08	1	
S&P 500	11.19	15.09	0.28	
NASDAQ 100	16.43	24.58	0.23	
Government bond	8.27	10.22	-0.24	
Commodity	2.19	22.53	0.27	
Money market	2.41	0.65	0.14	
Real estate	10.91	19.08	0.35	



Market Neutral: Benefits

- Enhanced Stock Selection Focus: Enables managers to concentrate on stock picking, minimizing disruptions from overall market movements.
- **Short Selling Advantage**: Exploits market inefficiencies by allowing shorting of overpriced stocks, which is often overlooked in long-biased markets.
- Flexibility Over Long-Only Portfolios: Market-neutral portfolios are not bound to benchmarks, allowing diverse stock weighting patterns.
- Extra Diversification: Achieves greater diversification through less correlated or negatively correlated long and short stock positions.

Market Neutral: Drawbacks

- **Short Selling Constraints**: Subject to specific rules and sometimes challenging execution, affecting the portfolio's effectiveness.
- Interest Rate Discrepancies: Short sale proceeds may incur lower interest rates than market rates, slightly impacting potential returns.
- Liquidity Buffer Requirements: Prime brokers may require additional cash for dividend payments and margin calls, impacting capital utilization.
- **Underperformance in Bull Markets**: Tend to underperform compared to all-equity portfolios during strong market upswings.

Market Neutral: Long-Short

- Adjusting Market Bias: Long-short portfolios adjust the balance between long and short positions, deviating from strict market neutrality.
- β Neutrality Variance: In long-short, overall portfolio β can be different (e.g., 0.4), resulting in less risk than an all-equity index.
- **Market Optimism/Pessimism**: Managers may tilt the portfolio slightly long or short based on market outlook, balancing risk and opportunity.
- **Combining Market Movements and α exposure**: This approach allows managers to benefit from overall market trends and individual stock picking.

Market Neutral Mechanics: Portfolio Construction

- Security Selection: Based on expected returns using models like Z-score, fundamental or economic factor models.
- **Dollar Neutrality Principle:** Balances long (buy) and short (sell) positions financially. If V_L and V_S represent the notional amounts in long and short positions, respectively, then $V_L = V_S$ for dollar neutrality.
- Weight Allocation: The sum of weights in both long and short portfolios equals 1, maintaining a balanced position. For example, Σ_Lw_i β_i = 1, and Σ_Sw_i β_i = 1.

Market Neutral Mechanics: Portfolio Construction

Good/Long Portfolio				Bad/Short Portfolio							
Ticker	WL	β_i	Dollar Amount	Share Price	Shares	Ticker	WS	β	Dollar Amount	Share Price	Shares
TSLA	0.264	2.18	\$23,715,735.07	705.67	33,607	SLB	0.089	2.28	\$7,982,029.72	21.83	365,645
ETSY	0.107	1.66	\$9,616,896.10	177.91	54,055	AAL	0.091	1.82	\$8,161,269.58	15.77	517,519
NVDA	0.102	1.46	\$9,161,536.05	522.2	17,544	NOV	0.091	2.22	\$8,171,115.07	13.73	595,129
PYPL	0.094	1.12	\$8,482,215.28	234.2	36,218	FANG	0.093	2.59	\$8,376,817.73	48.4	173,075
LB	0.092	1.66	\$8,300,605.96	37.19	223,195	HFC	0.094	1.83	\$8,464,580.37	25.85	327,450
ALB	0.087	1.60	\$7,861,523.59	147.52	53,291	MRO	0.102	3.36	\$9,172,852.41	6.67	1,375,240
AMD	0.087	2.28	\$7,790,410.83	91.71	84,946	UAL	0.103	1.62	\$9,268,717.94	43.25	214,306
FCX	0.084	2.28	\$7,603,621.21	26.02	292,222	OXY	0.112	2.35	\$10,060,697.52	17.31	581,207
CDNS	0.083	1.05	\$7,467,455.90	136.43	54,735	FTI	0.112	2.50	\$10,060,713.91	9.4	1,070,289
NOW	0.080	1.14	\$7,195,380.82	550.43	13,072	NCLH	0.114	2.86	\$10,281,205.74	25.43	404,294
Total	1.000	1.78	\$90,000,000.00			Total	1.000	2.36	\$90,000,000.00		

$$\beta_P = \beta_L + (-1)\beta_S = 1.78 - 2.36 = -0.58$$



Market Neutral Mechanics: Beta and Risk Factors

- Dollar Neutrality Limitation: While balancing the dollar value, it may not neutralize market risk. The portfolio's beta (β_P) can still indicate market risk exposure.
- Beta Neutrality (Risk-Factor Neutrality): Ensures the weighted-average CAPM beta of long and short positions equals zero, i.e., $(\sum_{L} w_i \beta_i + \sum_{S} w_i \beta_i = 0)$, where L and S are the number of stocks in the long and short portfolios, respectively.
- Advanced Neutrality Techniques: Involves creating a portfolio that is neutral to multiple market risk factors, potentially yielding a risk-free rate return with an alpha of 0.
- **Practical Considerations:** Challenges in achieving beta neutrality, such as liquidity constraints and diversification issues, necessitate careful portfolio construction and optimization.

Market Neutral Mechanics: Beta and Risk Factors

Beta neutral:
$$\sum_{i=1}^{N_{t}} w_{i}^{L} \beta_{i} = \sum_{i=1}^{N_{s}} w_{i}^{s} \beta_{i}$$

Factor neutral:
$$\sum_{i=1}^{N_{t}} w_{i}^{L} \beta_{i,k} = \sum_{i=1}^{N_{s}} w_{i}^{s} \beta_{i,k}, \text{ for all } k$$

Example of a Dollar-Neutral and β -Neutral Portfolio:

Good/Long Portfolio				Bad/Short Portfolio							
Ticker	WL	β,	Dollar Amount	Share Price	Shares	Ticker	WL	β_i	Dollar Amount	Share Price	Shares
TSLA	0.186	2.18	\$16,758,853.37	540.73	30,993	SLB	0.030	2.28	\$2,716,195.44	570.56	4,761
ETSY	0.089	1.66	\$8.013.791.20	305.34	26.245	AAL	0.009	1.82	\$822,773.14	384.33	2,141
NVDA	0.057	1.46	\$5,129,344,51	1386.71	3.699	NOV	0.027	2.22	\$2,465,736.48	168.4	14,642
PYPL	0.019	1.12	\$1,736,408,45	472.27	3.677	FANG	0.045	2.59	\$4,008,451.59	143.5	27,933
LB	0.090	1.66	\$8.059.242.39	269.05	29,954	HFC	0.009	1.83	\$842,532.27	258.91	3,254
ALB	0.083	1.60	\$7,435,420,35	582.94	12,755	MRO	0.094	3.36	\$8,456,794.48	88.65	95,395
AMD	0.000	2.28	\$0	92.85	-	UAL	0.655	1.62	\$58,937,517.68	141.77	415,726
FCX	0.455	2.28	\$40,912,457,48	117.4	348,488	OXY	0.034	2.35	\$3,016,089.98	721.54	4,180
CDNS	0.000	1.05	\$0	195.18	-	FTI	0.040	2.50	\$3,610,344.11	379.85	9,505
NOW	0.022	1.14	\$1,954,572.25	387.83	5.040	NCLH	0.057	2.86	\$5,123,564.84	92.48	55,402
Total	1.000	2.00	\$90,000,000.00		-,	Total	1.000	2.00	\$90,000,000.00		



Market Neutral Mechanics: Expected return and risk

Assuming that stock returns are driven by some multifactor model, the excess return of stock i can be

represented as $r_i = \alpha_i + \beta_{i,1}f_1 + \dots + \beta_{i,K}f_K + \epsilon_i$

The excess return to a market-neutral portfolio when all risk factors are set to be neutral is

$$\begin{aligned} r_p &= \sum_{i=1}^{N_L} w_i^L r_i^L - \sum_{j=1}^{N_S} w_j^S r_j^S \\ &= \sum_{i=1}^{N_L} w_i^L \alpha_i - \sum_{j=1}^{N_S} w_j^S \alpha_j + \sum_{i=1}^{N_L} w_i^L \epsilon_i - \sum_{j=1}^{N_S} w_j^S \epsilon_j \\ &\equiv \alpha_L - \alpha_S + \epsilon_L - \epsilon_S \end{aligned}$$

Thus the expected excess return of the market-neutral portfolio is $E(r_p) = \sum_{i=1}^{N_L} w_i^L \alpha_i - \sum_{j=1}^{N_S} w_j^S \alpha_j$ If you make a further assumption that $\alpha_L = -\alpha_S = \alpha$ (i.e., that the long portfolio's α and the short portfolio's α have the same absolute value but opposite signs), then the market-neutral portfolio achieves its $2\alpha!$



Market Neutral Mechanics: Expected return and risk

The advantage of 2α in a market-neutral portfolio arises solely from its leverage, where capital is fully deployed in equal measures on both long and short positions. In the absence of such leverage, the alpha (α) for the market-neutral portfolio would not surpass that of a typical long-only portfolio, unless there are significant, untapped opportunities available on the short side.

The variance of the market-neutral portfolio

$$V(r_p) = V(\alpha_L - \alpha_S + \epsilon_L - \epsilon_S)$$

= $V(\epsilon_L - \epsilon_S)$
= $V(\epsilon_L) + V(\epsilon_S) - 2C(\epsilon_L, \epsilon_S)$

If we make the assumption that $V(\varepsilon_L) = V(\varepsilon_S) = \omega^2$, then the variance of the market-neutral portfolio reduces to $V(r_p) = 2\omega^2(1-\rho)$ where ρ is the correlation coefficient between ε_L and ε_S .

Market Neutral Mechanics: Information Ratio

The information ratio (IR) of a long-only portfolio is $IR_L = \frac{\alpha}{\sqrt{\omega^2}}$

whereas the information ratio of

to

the market-neutral portfolio we considered earlier is $IR_N = \frac{2\alpha}{\sqrt{2\omega^2(1-\rho)}}$

$$\frac{R_N}{R_L} = \frac{\frac{2\alpha}{\sqrt{2\omega^2(1-\rho)}}}{\frac{\alpha}{\sqrt{\omega^2}}} = \sqrt{\frac{2}{\sqrt{1-\rho}}}$$

One can immediately see the benefits of a market-neutral strategy in the information ratio. Since the

18 | Data Driven Methods in Finance



Market Neutral Mechanics: Information Ratio

- The market-neutral strategy surpasses long-only portfolios in terms of the information ratio, particularly due to the correlation between long and short positions being capped at 1. In cases of perfect correlation, the strategy significantly lowers overall portfolio variance, enhancing the information ratio.
- A key advantage of market neutrality is the ability to short sell, offering a strategic edge over long-only portfolios. This capability allows market-neutral managers to actively bet against stocks they expect to decline, potentially leading to higher alpha generation and capitalizing on market inefficiencies.





Market Neutral: Equitization and Portable alpha

- Equitization Concept: Converting cash into synthetic equity positions (with equity futures, forwards, or options), allowing market-neutral portfolios to gain full market exposure.
- Adjusting Market Exposure: Using equity index futures to adjust portfolio's market exposure while retaining stock-picking alpha.
 - **Example**: By targeting mispriced sectors, like consumer staples, a manager can create a market-neutral position within these specific sectors while maintaining long-only positions in other sectors. This approach allows the portfolio to align closely with benchmark behavior, yet capitalize on the additional alpha from the market-neutral positions in the identified sectors.

Market Neutral: Equitization and Portable alpha

- **Portable** α **Strategy**: Transporting alpha from one asset class to another, separating alpha generation from asset allocation decisions.
- **Application of Portable** α: Enables managers to maintain exposure to preferred benchmarks while exploiting alpha in different asset classes.
 - **Example**: A portfolio manager proficient in managing small-cap stocks, despite anticipating large-cap stocks to outperform, can optimize performance by maintaining their small-cap stock selection strategy, shorting Russell 2000 futures for beta neutrality, and buying S&P 500 futures to align with the S&P 500 market risk. This approach combines the manager's small-cap alpha with the overall market dynamics of the S&P 500.

Market Neutral: Pair Trading

- **Pair Trading Basics**: Involves buying undervalued and shorting overvalued securities, focusing on alpha generation with controlled risks.
- **Risk-factor Neutrality in Pairs**: Adjusting for relative risk factors or volatility between paired stocks for balanced exposure.
- **Practical Implementation**: Examples include industry-based pairing, statistical correlation analysis, and contrarian views for divergence convergence.
- **Pair Trading Outcomes**: Demonstrates lower volatility and risk for similar or improved returns compared to individual security investments.

	Holding Period Return (%)	SD (%)	Correlation with S&P 500
JNJ	10.01	10.79	-0.38
MRK	-2.19	17.42	0.23
Pair (dollar-neutral)	6.10	9.77	-0.41
Pair (beta-neutral)	5.45	9.59	-0.43



Market Neutral: Implications

- **Market Neutral vs. Market Winds**: Market-neutral strategies offer insulation from market volatility while enabling substantial returns.
- Variants of Market Neutrality: Including dollar neutrality (equal long/short dollar value) and β neutrality (similar risk-factor exposure).
- Enhanced Information Ratio and α: Market-neutral investing boosts the information ratio and α by allowing short selling of underperforming stocks.
- **Expanding the α Advantages**: Discussing the interplay of market neutrality with long-short strategies, equitization, portable α, and pair trading.

Bayesian α: Introduction

- **Context**: Incorporates non-data, <u>qualitative</u> information into <u>quantitative</u> factor models.
- **Challenge**: Transforming qualitative insights into the constant term α without arbitrariness.
- Bayesian Theory's Role: Offers a rigorous framework to merge qualitative data with model estimations.
- **Bayesian** α: Represents a systematic approach to integrate extra qualitative information into the quantitative analysis process.





Bayesian α: Basics

- **Bayes' Rule**: Relates conditional probabilities, forming the core of Bayesian theory.
- Conceptual Shift: Treating unknown parameters (θ) as random variables allowing them to have probability distributions.
- **Practical Application**: Applies to parameters in factor models, considering coefficients on explanatory variables and error variances.
- Bayesian vs. Classical Theory:
 - Bayesian allows for subjective probabilities, unlike classical statistical theories.
 - Bayesian: parameters are random and have probability distributions, classical: parameters are NOT random and have some true value
 - When both the classical theory and the Bayesian theory are applicable, their conclusions are often identical



Bayesian α: Prior and Posterior

- Prior: p(θ). Represents the probability density of parameters before data analysis, based on qualitative or intuitive information.
- **Likelihood Function**: $p(\mathbf{x}|\theta)$. Measures how likely data are drawn from given parameters.
- **Posterior**: $p(\theta|\mathbf{x})$. Probability density of parameters post-data analysis, combining prior and likelihood.
- **Application**: Employs Bayes' rule to systematically update beliefs about stock returns based on new data.

 $p(\boldsymbol{\theta} \mid \mathbf{x}) \propto p(\mathbf{x} \mid \boldsymbol{\theta}) p(\boldsymbol{\theta})$

Posterior = Likelihood × Prior ÷ Evidence





Bayesian α: Quantifying Qualitative Information

- Stock Screen Analysis: Transforms analyst-recommended stock lists into probabilistic models for α.
- Stock Ranking: Converts analyst-prepared rankings into likelihoods of one stock outperforming another.
- **Buy/Sell Recommendations**: Uses buy ratios from analyst recommendations to infer stock superiority probabilities.

$$P(\alpha_A > \alpha_B) = \frac{\text{number of buy recommendations for } A}{(\text{number of buy recommendations for } A)} + \text{number of sell recommendations for } A)$$
$$= \frac{\text{number of buy recommendations for } B}{(\text{number of buy recommendations for } B)} = \frac{\text{number of buy recommendations for } B}{(\text{number of buy recommendations for } B)}$$

Bayesian α: Applications

- **Z-Score-Based Prior**: Utilizes Z-scores from factor analysis to establish stock ranking and consequently the prior for α.
- Scenario-Based Priors: Involves identifying potential market scenarios and assigning probabilities and α values to each.
- Event Tree Method: Organizes complex event sequences and probabilities in a structured format for scenario analysis.

Scenario	AAPL	AMZN	JNJ	MSFT	WMT
Low unemployment	19.49	16.34	1.54	23.02	11.73
	(21.84)	(21.62)	(13.55)	(12.07)	(19.19)
High unemployment	13.31	22.62	-1.01	3.96	-8.58
	(23.78)	(25.22)	(11.71)	(18.55)	(17.90)

Average Abnormal Returns of Selected Stocks in the High-/Low-Unemployment





28 | Data Driven Methods in Finance

Scenario

Bayesian α: Main points

- Innovative Approach: Bayesian α introduces a nuanced method of blending qualitative insights into quantitative models.
- Information Criterion Adherence: Avoids double-counting of information, ensuring efficient use of data and non-data sources.
- Enhanced Portfolio Management: By integrating diverse information sources, Bayesian α enriches the decision-making process in portfolio management.
- **Key Takeaway**: Bayesian α acts as a bridge, turning qualitative insights into quantifiable inputs, thus enhancing the predictive power of factor models.

Disclaimer

This course is for educational purposes only and does not offer investment advice or pre-packaged trading algorithms. The views expressed herein are not representative of any affiliated organizations or agencies. The main objective is to explore the specific challenges that arise when applying Data Science and Machine Learning techniques to financial data. Such challenges include, but are not limited to, issues like short historical data, non-stationarity, regime changes, and low signal-to-noise ratios, all of which contribute to the difficulty in achieving consistently robust results. The topics covered aim to provide a framework for making more informed investment decisions through a systematic and scientifically-grounded approach.

